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dbiEE FLIR TR X Rt 52— —iRIREE 12 0.041 (0007 ) ~ 0.19
dbiEE FLEH IR EZALIER — RIS 12 0.086 (0048 ) ~ 0.15
biEE AR L X (E3235) —BRE 12 0.032 ( 0.011 ) ~ 0.085
dbiEE BT EER/NERBED —RIRE 12 0.023 (0008 ) ~ 0.089
dbiEE EEET PENERGBIE — RS 12 0.020 ( 0.010 ) ~ 0.046
dbiEE HBJI T M5 —HRIRIE 4 0.020 ( 0.011 ) ~ ( 0.026
s =NV B/ NEE — RS 12| ( 0.05 ) ( < 010 ) ~ ( < 010
dbiEE =NV EES@NEl —fRIREE 12] (005 ) ( <010 ) ~ ( < 010
dbisE Figkm HOEAER —RIRE 12 0.034 ( < 0006 ) ~ 0.067
EAE el BINERE —fRIREE 12 0.016 ( < 0007 ) ~ 0.025
EHE BhFI T BARIE —FF R E — IR 12] (00062 ) [ ( < 0004 ) ~ 0.017
EAE J\FH INFINERF —iRIREE 12 0.021 (0009 ) ~ (0039
EFE RE AT EEHB —RIRE 12 0.012 (0006 ) ~ 0.018
=EFE AMpiE BB —BRE 12| ( 0.011 ) ( 0.006 ) ~ 0.025
=2F5 b tEmFEE —HRIREE 12| ( 0.012 ) ( 0.006 ) ~ 0.030
=FE —_Fmh FER — RS 12] ( 00094 )| ¢ 0.006 ) ~ (< 0025
=R WETEREX |75 — RS 12 0.022 ( < 0020 ) ~ (0058
=R WETEREX |BREE —fRIRE 12l (0018 ) ( < 0020 ) ~ (0038
=R BET BE-RIBEASAED — RS 12 0.045 ( < 0006 ) ~ 0.073
=R pN 1] ST —BREARAERD — RIS 12 0.042 ( < 0006 ) ~ 0.084
=R = AR AT EEEER —fRIBEE 12] (0026 ) (0015 ) ~ (0040
MHEE BrEh el — RS 12 0.021 (0009 ) ~ (0040
A g R RRTE R —ARIRLE 12 0.023 ( 0.011 ) ~ 0.050
Lz EET SEREER — IR 12 0.036 0.012 ~ 0.060
EER BEm B AR BT —fRIRE 12 0.028 (0010 ) ~ 0.13
=58 SEENT SEERR —RIRE 12] (00044 )| (< 0004 ) ~ ( < 0014
258 AR LU FER — RS 12] ( 0.0078 ) | ( < 0.0027 ) ~ 0.028
=58 Bl AN — RS 12] (0010 ) | ( < 00028 ) ~ 0.069
258 LWhEH BLIH —RIRE 12 0.020 (< 0.007 ) ~ 0.041
=58 mtaET BEHEEERITE — RS 12| (_ 0.0041 )| ( < 00028 ) ~ ( < 0014
REE KEM KERIIE —fRIRE 12 0.11 (003 ) ~ 0.25
ZiE BiLm BIifEmB —fRIREE 12 0.027 0.020 ~ 0.055
I TEm THEREE — RS 12 0.040 0.019 ~ 0.095
R IR IS BISFEH (WRAER) —iRIREE 12 0.029 0.020 ~ 0.040
ZEWE FAFET ABERERD —RIRE 12 0.043 0.027 ~ 0.073
TR T FHEE RS —fRIRE 12 0.030 0.019 ~ 0.063
ZE AT HETIEARD —RIRE 12 0.032 (0018 ) ~ 0.045
mRE FHETH FENERR —BRE 12 0.089 0.035 ~ 0.29
AR BT RRTAREERESE —RRE 12 0.063 0.031 ~ 0.12
mRE mARH KETE —BIRE 12 0.052 ( 0.013 ) ~ 0.10
mARE AHET BitEEELtE2— — RS 12] (0023 ) ( < 0005 ) ~ 0.055
mAE TEH BEEK —RIRE 12] (0035 ) ( < 0016 ) ~ 0.060
HER FIEidit AR5 —fRIREE 12 0.55 0.27 ~ 0.86
HEE ST HEXA —RIRE 12 0.52 0.24 ~ 0.84
HEE &IETH FEAREE —fRIREE 12 0.51 0.27 ~ 0.79
BER AHT AH—#H —RIRE 6 0.043 (0014 ) ~ 0.065
HEE BHETT BH—AEE —BRE 6 0.030 ( 0.014 ) ~ 0.058
BER Hlh BINE1T—1RB — RS 6 0.047 0.026 ~ 0.080
HEE Zi ZREI—BE —BRE 12 0.061 0.019 ~ 0.10
BER SWVEFEHERE |[EHAIER —HRIREE 12 0.081 ( 0.030 ) ~ 0.15
BEE SWVFETURHR |SWV-EmEAAER —BIRE 12 0.11 ( 0.025 ) ~ 0.22
BER SWVEFHPAR |[BEHMFHEL S— —fRIREE 12 0.11 (0031 ) ~ 0.26
BER SWVEETAER  |ERAER — RIS 12 0.085 (0026 ) ~ 0.17
BEE SWVEFHTARER [ KEXER —fRIRE 12 0.088 (0044 ) ~ 0.17
BEE JI T JIEET BRI E B —HRIREE 12 0.091 0.062 ~ 0.17
BEE JI#TH NBHEEAER —RRE 12 0.100 0.028 ~ 0.21
BEE AT EAE — RS 12 0.098 ( 0.038 ) ~ 0.19
BEE JIAH NOHmZAER — RS 12 0.065 0.021 ~ 0.17
BEER g NomEFEIER —HRIREE 12 0.55 0.13 ~ 1.3
BEE FriR™ L EFBIER —BRE 12 0.087 ( 0.031 ) ~ 0.18
BEE hnZEm BRERFEERECE — R IBE 12 0.10 (0045 ) ~ 0.17
BEE NI EXNITG) — RS 12 0.16 0.066 ~ 0.40
BER =k EBEHE&ERN —HRIRIE 12 0.10 ( 0.041 ) ~ 0.22
BER Bam RHAE —RIRE 12 0.085 0.037 ~ 0.19
FER FEHZRX TEHRKER —fRIREE 12 0.037 (_< _0.0011 ) ~ 0.18
FER FTEHRXERX R VNE —RIRE 12 0.048 (_<_0.0011 ) ~ 0.18
FER FEHRPRX EMER —fRIREE 12 0.082 (_< _0.0011 ) ~ 0.16
FER FETFRX BIEF — RS 12 0.15 (00016 ) ~ 0.69
FER k¥ HFTTMREE— —iRIREE 12] (0027 ) ( < 0028 ) ~ (0057
FER Gl HIFHE — RIS 12 0.064 ( < 0004 ) ~ 0.22
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FER fata™ ESIESE 12 0.052 0004 ) ~ 0.17
FTEE EE LT FELBTRE 12 0.036 < 0028 ) ~ ( 0.068
FER Nt WERER 12 0.058 < 0003 ) ~ 0.20
FTEE WEM WE-YKB 12 0.044 < 0004 ) ~ 0.11
FEE Nt WMERAF 12 0.063 < 0.004 ) ~ 0.19
FEE AT BREMEEHE 12 0.077 < 003 ) ~ 0.13
FEE izl KEBAER 12 0.14 0.054 ~ 0.33
FEE izl AERER 12 0.14 0034 ) ~ 0.37
FEE MR ThRERFE 12 0.13 0.028 ) ~ 0.52
FEE el J\IEBIE B 12 0.098 0017 ) ~ 0.27
FER HiEH b5 3B 5E 12 0.073 0018 ) ~ 0.22
FER mR™ BERAER 12 0.10 0.021 ) ~ 0.29
FTEE HiRT EHAER 12 0.18 0012 ) ~ 0.60
FER LG BREKERDRE 12 0.032 0027 ) ~ (0069
FEE BiEH BEARB 12 0.057 < 003 ) ~ 0.12
FEE A ET WHrERER 12 0.067 < 0.029 ) ~ 0.14
FEE =Eidiil BHEtRER 12 0.068 < 0028 ) ~ 0.19
FEE F AR AT HERTS ILIA— AR 54— 12 0.027 < 0.027 ) ~ ( 0.054
HIRER fRX PRRXEEE 12 0.09 ( <004 ) ~ 0.20
RIRER e EREERE) 12 0.12 (006 ) ~ 0.16
R AHRKX AHXFHEE 12 0.11 (005 ) ~ 0.20
RIRER HARX HHAAREHHEE 12 0.10 ( 004 ) ~ 0.19
RIRER REX RIBXIKIIETE 12 0.19 (007 ) ~ 0.33
RIER BEX BEXAMHAEG 12 0.17 ( 004 ) ~ 0.47
RIRER RIIRX BAXFEFHHE 12 0.41 (005 ) ~ 1.7
IR IR IRNREINB 12 0.10 ( 004 ) ~ 0.24
FIRED NEFH FERE 12 0.057 0.029 ~ 0.10
HIRER NEFH AEFETE 12 0.096 0.013 ~ 0.20
RIER INEHTH NEHFTRELV I 12 0.12 (007 ) ~ 0.21
R E PNl RANTERER 12 0.08 ( <004 ) ~ 0.15
RIER BEZEMEEN |AZEMERE 12 0.04 ( < 004 ) ~ (010
HE)E (BETRX BRE=R/NERE 12 0.063 (0008 ) ~ 0.13
EJIE )X BRI 12 0.17 (0048 ) ~ 0.73
HMEJE NG H)EX th Lt BIE R 12 0.12 (0022 ) ~ 0.35
FRIE g mRER P EAIE S 12 0.15 0.047 ~ 0.26
HEINE NIBHEEX SEATER 12 0.12 0.047 ~ 0.22
IR I g X X B RE B 12 0.17 0.021 ) ~ 0.42
HEE |HEEETRRX |HEFEES 12 0.076 0.023 ~ 0.18
HE)E |EWEBET BETREVA—SEE 12 0.066 003 ) ~ 0.12
wMENE |HBWEEH HBEEH&MN 12 0.056 003 ) ~ 0.096
HEJE |FED JBINERF 12 0.068 < 003 ) ~ 0.15
HRJE |EIR™ BRTENE 12 0.069 < 003 ) ~ 0.12
ME)IE |BERT HERNERE 2 0.090 004 ) ~ 0.14
wEIE  /AEET NHETERE 12 0.063 0.0028 ) ~ 0.40
HEJIE (FHH EHTEME 12 0.017 < 0004 ) ~ 0.068
#HRIE |EAH EAMERB 12 0.019 0005 ) ~ 0.079
HngE Fimmit X WES 12 0.040 0022 ) ~ 0.072
HRE FinmEREK PN 12 0.032 0016 ) ~ 0.058
HRgE #ET HeF 12 0.08 006 ) ~ (014 )
HngE wE™ PN ) 12 0.07 006 ) ~ (010 )
FiRE L ARER 12 0.07 0.06 ) ~ ( 0.10 )
HRgE BT PER 12 0.07 006 ) ~ (009 )
EWE ELH ELZERB 12 0.015 0005 ) ~ 0.025
EIWE gk M ABEWLB 12 0.03 003 ) ~ (004
alE £iRt ER7E 5 12 0.047 0004 ) ~ 0.080
AR tEh tERAER 12 0.018 0.011 ) ~ ( < 014
IR /NATH INRRITE D 12 0.018 0.011 ) ~ ( < 014
EHE Li=Eantit] EBHE 12 0.029 0008 ) ~ 0.080
BHE BE™ HMAHH 12 0.06 0.11 ) ~ (017
BHE fiEiTh HEAE 12 0.09 0.11 ) ~ ( 0.23
EHE i Eidiil =EBE 12 0.08 0.11 ) ~ (019
IR sl ioit] FRELRAES 12 0.019 0.005 ) ~ 0.093
Ty EtXEHT SHAIER 12 0.067 0.009 ) ~ 0.11
I BE7ILTRH B7IVIRAER 12 0.098 0.036 ) ~ 0.25
IR BN EJNEDNS) 12 0.066 0.029 ~ 0.099
EHE psadit] B/ FHBER 12 0.024 < 0014 ) ~ 0.13
EHE AN WMEE 12 0.069 < 0005 ) ~ 0.10
EFE LHM LTHB 12 0.12 <__0.005 ) ~ 0.24
EHE HEAT WEAE 12 0.070 < 0005 ) ~ 012
EFE ki ] FERE 12 0.092 < 0.005 ) ~ 0.15
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Ik B IR Iz B 71 P RAIES —iRIREE 12l (0010 ) ( < 0005 ) ~ 0.028
I 22 Iz B 11 I B LERAIER — RIS 12l (0013 ) ( < 0005 ) ~ 0.035
Ik B IR AiEH KiEHBAAE IR E R BEAT —fRIRE 12 0.028 ( < 0004 ) ~ 0.15
I 212 o= 31k )RR RELREE —RIRE 12 0.023 ( < 0005 ) ~ 0.091
Edbolad BT EX EEANRAER — RIS 12 0.047 0.019 ~ 0.079
R IE B IEKE EIRBIE R —RRE 12 0.040 0.013 ~ 0.077
Edbilad B EX R/ BRI TE S — RS 12 0.032 0.014 ~ 0.056
R E B IEKE BARERE—NERAER —fRIREE 12 0.090 0.027 ~ 0.25
i dbilad B8 0 T B2 SR XX FHABEPFERAES —HRIREE 12 0.037 0.022 ~ 0.060
FEdbilad EMmRX L ERBIE B —fRIREE 12 0.016 ( < 0006 ) ~ 0.062
Faf 2 ERH SHTEME —RIRE 12 0.030 ( < 00022 ) ~ 0.10
FEdbilad ELtmH ER/NERB —iRIREE 12 0.063 (0018 ) ~ 0.10
FahE 2 =+ ErWAELIIE PR — RIS 12l (0012 ) ( < 0005 ) ~ 0.042
Edbolad EHH BHMETE —fRIRE 12 0.044 ( < 00022 ) ~ 0.14
Fri 2 #h BImERB —RIRE 12 0.034 ( < 00020 ) ~ 0.10
Edbolad LHM RATEAE — RS 12 0.037 (< 0.0019 ) ~ 0.12
ZHE LEEMERX BK/DNERE — RS 12 0.10 ( < 0013 ) ~ 0.31
ZHE £EETER FINERB —fRIRE 12 0.057 ( < 0013 ) ~ 0.22
ZHE LEEMERX EBE — RS 12 0.12 ( < 0013 ) ~ 0.44
ZHE £2HEMRIIIR |EAXZAE —RIRE 12 0.038 ( < 0013 ) ~ 0.089
ZHE EXidit] B —fRIBEE 12 0.32 0.13 ~ 0.54
ZHIE 2™ PN i) —RIRE 12 0.30 (006 ) ~ 0.53
ZHE & 5 T fiE] U5 7 R AR AR LU K SR TE —ARIRLE 12] ( 0.0060 ) | ( < 0.0030 ) ~ 0.027
ZHIE FHE™ FHTEEND —RIRE 12] (0006 ) ( < 0003 ) ~ 0.026
ZHE ZHM FEB(=ETED —BRE 12 0.022 (< 0.007 ) ~ 0.058
ZHE N IMNEBERE —RIRE 12 (00053 )| ( < 00029 ) ~ 0.019
ZHE BiEm RIS — RS 12| ( 0.007 ) (_< 0003 ) ~ 0.024
=58 MMAmH TLEBKAER — RS 12] (0004 ) ( < 0003 ) ~ (< 0016
=ER rMAHH METEESKAER —fRIRE 12 (00040 ) | ( < 00029 ) ~ ( < 0015
=58 N MABREE R/ —HRIRIE 12 0.031 (< 0010 ) ~ 0.056
=58 £42TH =ERREATE — RS 12 0.030 ( 0.014 ) ~ 0.044
= FEET FBEHrEhER — RS 12 0.063 0.023 ~ 0.099
HEE AiEH HERFHENFEE— —RIRE 12 0.092 0.037 ~ 0.23
HER EiRh ERIESRK —iRIREE 12 0.043 (o018 ) ~ (010
HEE FIEM RER — IR 12 0.034 ( 0.018 ) ~ ( 0.09
HBEER HiEH BEE — RS 12 0.077 0.029 ~ 0.13
HEE [Tt EEERTE —RIRE 12 0.034 (0016 ) ~ 0.094
HEE RiiTH ESliING) —fRIRE 12 0.042 (0022 ) ~ (009
RERRT FHHERK ERB —RRE 12 0.13 0.027 ~ 0.25
RERRT AHBAFLET |AELE —BIRE 12 0.100 ( 0.036 ) ~ 0.20
ABRAF AR FEEFX EBPERB — RS 12 0.23 (0034 ) ~ 0.69
ABRAF ABrmdb X ENERB —RIRE 12 0.16 ( < 0029 ) ~ 0.36
ABRAF BHEX ENER —fRIREE 12 0.10 (0013 ) ~ 0.20
A B AF i S EFB —HRIREE 12 0.35 (< _0.008 ) ~ 1.5
ABRAF ELaalit] BTG —BRIRE 12 0.29 0.084 ~ 0.78
KERAF WwHETH wHETILEEER — IR 12 0.078 ( < 0007 ) ~ 0.19
A BRAF =Y EfE —fRIRE 12 0.077 0.024 ~ 0.16
ABRAF o alit] WATEAE — RS 12 0.15 (0040 ) ~ 0.49
A BRAF INEM NETREFS —BRE 12 0.36 0.13 ~ 1.0
KERAF RIEEFT EHFRERB —RRE 12 0.038 ( < 0006 ) ~ 0.18
A BRAF E MM EBARTERE —BIRE 12 0.20 (< 0.006 ) ~ 0.74
KERAF EEIH ERITEAE — IR 12 0.34 (0044 ) ~ 1.6
ABRAF BHFN BHFHETH — RIS 12 0.14 ( < 0006 ) ~ 0.49
ABRAF E PNl FREEV2—F —fRIRE 12 0.31 0.13 ~ 0.58
EEE HET X AHARBIER —RIRE 12 0.033 ( < 00009 ) ~ 0.081
EEE HEMEER EEEHAKEED —fRIRLE 12 0.052 0.010 ~ 0.12
EEE HEMIX e BEHEARAER — RS 12 0.033 0.012 ~ 0.082
EER JEERTH INRAIER —fRIRE 12 0.056 0.026 ~ 0.090
EEE BT Z/ EaKE —RIRE 12 0.20 ( < 0014 ) ~ 0.54
EEE BET AAGREIEE2— —BRE 12 0.060 (< 0.003 ) ~ 0.24
EER BEEM AEMENE —RIRE 12 0.24 0.049 ~ 0.51
EEE AT NATEAE — RS 11 0.070 (< 0.007 ) ~ 0.14
EEE iy lIGH mENE —RIRE 12 0.22 0.037 ~ 0.92
EEE =T ERHMERY TS —RIRE 12 0.18 0.033 ~ 0.49
EEE =Hmh =HHEmB — RS 12 0.095 0.029 ~ 0.20
ZRE =B EHREFER — IR 4 0.29 0.22 ~ 0.42
Z=RE =R ARRTUELAER —fRIREE 12 0.20 ( < 0016 ) ~ 0.44
ZRE XEH XEFH —RIRE 12 0.065 0.029 ~ 0.19
MFUE  (FaFld AAXREEAT —HRIRLE 12 0.15 ( 0.041 ) ~ 0.52
fFLE AR A RIStV 8- — RIS 12 0.22 (0026 ) ~ 0.84
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FOFLE iR B A /M2 —iRIREE 12] (0030 ) | (00027 ) ~ 0.071
FMELE |FHEW FHTHEARER — RIS 12] (0018 ) | ( < 00019 ) ~ 0.07
SHRE SEH ERETHENSITE —BRE 12 0.035 0.019 ~ 0.056
BHRE RFH SRERFREMSE —RIRE 12 0.065 0.024 ~ 0.22
SHRE =i=Hitl EREESREFNE — RS 12 0.032 0.016 ~ 0.047
EiRE WIm EFWIR —RRE 12 0.061 0.0074 ~ 0.21

fif] LI [# L E X el a5 — RS 12 0.031 ( 0.007 ) ~ 0.067

il LI & L b X R/ — IR 12 0.029 (0010 ) ~ 0.069
fELL 2 =50l EHRENR —RIRE 12 0.048 (0013 ) ~ 0.089
L8 EIT EEERB — RS 12 0.055 (< 0010 ) ~ 0.12

fiE] LI EEHm HEAKAES — IR 12 0.051 ( < 0013 ) ~ 0.10
LS T EERKAES —HRIRLE 12 0.042 (< 0010 ) ~ 0.086
LEEE LEETRERMR |RIEBRERAIER — RIS 12 0.032 ( < 0008 ) ~ 0.066
IN=T LEEHTAERK HO/NMERAER —fRIRE 12 0.039 ( < 0008 ) ~ 0.092
LEE & BE/NMNERE —RIRE 12 0.041 ( < 0008 ) ~ 0.16
LEE Xl BER/NERB — RS 12 0.21 0.032 ~ 0.60
LEEBE =] B/INERE — RS 12 0.021 (0012 ) ~ 0.035
LEE Bl WK /NER B —fRIRE 12 0.046 (0010 ) ~ 0.12
LEEE &l BB/NERE — RS 12 0.074 (0009 ) ~ 0.30
LEE Silaakit] RhmEE L 52— — RIS 12l (0015 ) ( < 0004 ) ~ (0064 )
LEE bl AR AER —fRIBEE 12l (0010 ) ( < 0004 ) ~ ( <005 )
LEE RIEE™ RLEEBEENERD — RS 12] (0035 ) ( < 0005 ) ~ 0.19
IN=T IWERILESE |LEESRF —iRIREE 12l (0010 ) ( < 0004 ) ~ ( <005 )
wog TEEH THEHREREER — IR 12 0.044 (0007 ) ~ 0.25
Wwog TBEEH ABINER —BRE 12 0.019 ( 0.007 ) ~ 0.053
wog FE T FHEETE —RIRE 12] (0012 ) | ( < 0.0021 ) ~ 0.035
o Fm FEEEILEV 2R —fRIRE 11 (0010 ) ( < 0020 ) ~ ( < 0020 )
wog EEH HEHR/NERB — RS 12] (0016 ) | ( < 00027 ) ~ 0.055
wog it} ERIRERE —RIRE 1] ( 00014 ) [ ¢ < 0.0027 ) ~ (< 0.0027 )
wog E@m BEHETER —fRIREE 12 (00095 ) [ ( < 0.0021 ) ~ 0.021
wog B EQHIREARBE — RS 1] ( 00014 ) [ ¢ < 0.0029 ) ~ (< _0.0029 )
wWag A AR FO A HT MRIZa=FT1—E 58— — RS 1 ( 00014 ) [ ( < 0.0027 ) ~ (< 00027
EEE ISP BB — RS 12 0.071 (0010 ) ~ 0.57
EEE FaIEa ) —iRIREE 12 0.063 (0012 ) ~ 0.48
EEE R EFER L ST tER — IR 12 0.077 (0008 ) ~ 0.61
FINE =T BRHAXRISA =T E— —fRIRE 12 0.023 (___o00M ) ~ 0.042
FENE AT AETEMB —RIRE 12 0.064 ( < 0028 ) ~ 0.19
FINE rdasjil BEER —BRE 12 0.040 ( < 0.028 ) ~ 0.11
FNE e tasiil REHEAE —RRE 12 0.044 ( < 0028 ) ~ 0.13
FIE &FIEE S/ EEREIER —BIRE 12 0.041 ( < 0.028 ) ~ 0.11
BIEE NI EARE —HRIRIE 6 0.030 ( 0.010 ) ~ 0.059
ZRE FHSTH cmidiWal) —HRIREE 12| ¢ 0.010 ) (< 0019 ) ~ (< 0019 )
ZEE EETN BPFEL-ZUREL2— —fRIREE 12l (0010 ) ( < 0019 ) ~ ( < 0019 )
BHIE =T NES —RIRE 6] (006 ) ( < o1 ) ~ (< o1 )
SR =% HER —fRIREE 6] (006 ( < on ) ~ (< 011 )
BHIE Z= ZEB — IR 12 0.020 (0007 ) ~ 0.032
=R JAIgTH BEBSEFRE —fRIRE 12 0.019 ( < 0006 ) ~ 0.032
R EAMTERRK |[FRE —RIRE 12 0.023 ( < 00020 ) ~ 0.055
far R A/ ELEIEAMNE —BRE 12 0.27 (< 0.0020 ) ~ 1.6
a2 daMf/hEmE KR ES —RRE 12 0.019 ( < 00020 ) ~ 0.051
2R famE R X EHR —BIRE 12 0.16 0.016 ~ 0.88
22 AB R WEPFERE —fRIREE 11 0.087 0.039 ~ 0.17
a2 M)l BJIE —HRIREE 11 0.038 ( < 0006 ) ~ 0.098
&R RIEH REE —fRIRE 11 0.033 ( < 0006 ) ~ 0.079
EEER EET EEE —HRIREE 1] (¢ 0.026 ) (_< _0.008 ) ~ ( 0.06 )
EEER FREH ) —fRIRLE 11 (0023 ) ( < 0008 ) ~ (0048 )
RIGE RIGT N ERER —RIRE 6] ( 0.004 ) (< _0.005 ) ~ ( < 0015 )
RIFE HRETH EHEAREE —fRIRE 4 (o010 ( <02 ) ~ ( <020 )
RIFE polznitl (E % ot B B 1 FRURI B P — RS 12 (00050 ) [ ( < 0004 ) ~ ( < 0015 )
RERIE EX i FE2HERRB —BRE 12| ( 0.028 ) (< _0.008 ) ~ ( 0.062 )
ARE it EFFRERAER —RIRE 12 (00044 )| ( < 00027 ) ~ ( < 0014 )
AnE hiE™ PERRETER — RS 12 0.049 (< 0.006 ) ~ 0.33
AHE HHE! FEERRERT —RIRE 12 0.023 (< 0.006 ) ~ 0.082
ARE T HELBLARE —RIRE 12 0.021 ( < 0006 ) ~ 0.071
=IFR =igH = e 5 —fRIREE 12] (00045 ) | ( < 00027 ) ~ (0015 )
BEREE |[BEREH H&AE —RIRE 6] (0004 ) ( < 0005 ) ~ ( < 0013 )
BEREE |BEM BEE —iRIREE 2| (00036 )| ( < 00023 ) ~ ( <0012 )
BREE |FEB™ E=10) —RIRE 2 0.013 ( < 00029 ) ~ (0024 )




ThSOOOTFLY (BM2FE : —RIFE)

WERRE|  mEk Bl 5 % 5153 1B B (ot gy RE(e/mS)
EE AFEH EFEE — RS 6 0.030 (< 0010 ) ~ 0.077
bl ot baskiAiil a1 — RIS 12| (oom ) (< 0011 ) ~ 0.38
EE S5Fh BEREMETRB —BRE 12| ( 0.080 ) (< 0011 ) ~ 0.37
HEEE ESEEEHESEIEE D) [E %30 F U B 14 Y B E B —HRIREE 12] ( 0.0040 ) | ( < 0.0027 ) ~ ( < 0012
O EEHEORTA X FEHEL. &R ORARE FRIERETHo-I5E L. ZOEEFMESTRRLTS,

Q BEHH(F/ME~RKIE) ORTHE

- MEXERKRIEQED. BEHTRIERBETH>HEIE. [ <EGEHAOHRETRIE) JELTRRLTWS,

- MEXIEEXEDED. METRIEL LEETRERBETHoGEIE. [ CAIEMHE) JELTRRELTWS,

s R/MEXR SR KIEDEIL. JIS Z 8401 (k> THIEZE NS BN F2HTELTRRLTLD, =L, REIZE TS EETREDHETEL. TNEYTDHIETRFRLEL,
ThSOOOIFLY (GH2EE : BEFKERED)

WERRE| Al % 53 8 R (ot gy RE(e/mS)
=FE ==t EamllFREE 2— ElEH4EEED 1 <« 0.004 ) (_< _0.008 ) ~ (< _0.008
EFE Sl ER 4 FH BT EHE—BER ElE 4 JRET 1l ¢ 0004 ) ( < 0008 ) ~ (< 0008
BER B BT EMNE ElEH 4 EED 12 0.36 0.096 ~ 1.3
FEE izl HTE _SRLS5 B R4 RED 12 0.10 (0024 ) ~ 0.34
HE)E |EERERKX BRXHBAXRISYE &% 4 R E D 12 0.10 0.036 ~ 0.19
HMEE |FIEH J\BB /N Bl R4 EED 12 0.11 ( <003 ) ~ 0.29
=58 MAMH ZEAER ElEF 4 RED 12| ( 0.004 ) (< _0.003 ) ~ (< 0015
HEE E T KEFELIKYtH— ElEH 4 ERFD 12 0.13 ( 0.021 ) ~ 0.48
RERRT AR X R EL XL BB B 4 TR E D 12 0.73 0.059 ~ 1.7
A BRAF RAET RAENEMB B FE AR E D 12 0.10 (< 0.006 ) ~ 0.31
EEE HET#X HEATBIERD B F 4 R ED 12 0.24 0.017 ~ 1.3
EER HETREX ABEBEAER ElEH4EEFD 12 0.14 0.040 ~ 0.31
EEE HEMRHARX EHAKAER ElE 4 RET 12 0.041 ( < 00009 ) ~ 0.087
EER iyl AR B E F 4 R E D 12 0.11 0.034 ~ 0.32
=RE AF0EB LT EBLLIBR 05K 5 ElE 4 JRET 12 0.078 0.032 ~ 0.21
ERE WiTH T XMt EI [E 7 F& 4 R E D 12 0.039 0.0067 ~ 0.14
LR BEm BEERtE E—F B EFERED 12 0.064 0.020 ~ 0.13
LR =520l NG| &% 5 4 TR E D 12 0.30 0.037 ~ 0.74
fEL 2 BEm ZERNER Bl R 4ERERFD 12 0.083 ( < 0004 ) ~ 0.23
R =E> 4t BER &% 4 TR E D 12 0.12 (0015 ) ~ 0.49
fif] LI =£->4itl EHE [E 7 FE AR E D 12 0.067 ( 0.011 ) ~ 0.21
fiE] LI =520l WIE B F 4R ED 12 0.37 0.046 ~ 1.4
LEE LETRX H AR A ElEH4EEFD 12 0.034 ( < 0008 ) ~ 0.070
LEEE LEEMERELR | RF/NER ElEFKERED 12 0.031 ( < 0008 ) ~ 0.062
RIGE HET FEThRIEMAM T FIRMESEE ElEH 4 EED 4 (o018 ) ( < 02 ) ~ (044
AnE Anh RAD/DNERAED B EFERED 12] (00098 )| ( < 00029 ) ~ 0.053
AnE il =ENERAER B F 4 R ED 12 (00077 )| ( < 00027 ) ~ 0.030
=igE ER™ ERRERB Bl R4 REED 12] (00052 )| ( < 00026 ) ~ 0.022
=IFE BmEH I EREEEHE Bl S 4 RED 12 (00042 )| ( < 00026 ) ~ ( < 0013
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dbimE LR R X RISTHB#RE BB 12 0.039 0.015 0.092
dbiEE FLIRT R X ET1EBHRE BE 12 0.048 0.025 0.091
dbimE Figm ZRAER Rl 12 0.029 0.009 ) 0.059
=& —Bm —BEm=REE BB 12 0.015 <_0.008 ) 0.049
=i WETEKRKE 1R BB 12 0.022 <_0.020 ) 0.046
=R WERRX e R BB 12 0.016 0020 ) 0.033
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R IR o il THEPHER BB 12 0.049 0.026 0.11
HEE R IGT FBIEEHE BB 6 0.040 0.016 0.062
BER SWVEFETAR  |=BEHAIER BB 12 0.090 0.029 0.16
BEE B ENhiEEEEE BE 12 0.23 0.045 0.65
BEE FHM FHEXKBE#E BB 12 0.48 0.031 3.1
FER izl JBRIER BB 12 0.13 0.038 0.34
FER izl REFEAER BiE 12 0.15 0.029 0.40
RIRER THERX REEREFRH BB 12 0.14 0.04 0.34
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HENE  |BEHmBFX HFXEES BB 12 0.054 0.005 0.11
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EHE Li=Eanit] BHEEHE e 12 0.024 0.012 0.050
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WHE sl ioiit] BT EESEHFARE BB 12 0.11 0.005 0.45
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ZHE L2EEMERX i@ BE 12 0.13 0.023 0.34
ZHE Xl SER e 12 0.31 0.12 0.55
ZHE [if] i3 T EET R ERTAES e 12 0.0086 < 0.0029 0.058
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SHRE BEH KHRXERB BE 12 0.035 0.019 0.056
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LEE =REh ZEREHRHE RE 12 0.010 < 0004 ) 0.05
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